Malaya Journal of Matematik

MIM

an international journal of mathematical sciences with computer applications...



www.malayajournal.org

A Note on Some Modular Equations Using Theta Functions

B. R. Srivatsa Kumar*

Department of Mathematics, Manipal Institute of Technology, Manipal University, Manipal - 576 104, India.

Abstract

In this paper, we have given simple proof to the modular equations using theta function identities.

Keywords: Theta functions, Modular equations.

2010 MSC: 05C15, 05C70.

©2012 MJM. All rights reserved.

1 Introduction

We begin this section by introducing the standard notation

$$(a;q)_0 := 1$$

and

$$(a;q)_{\infty} := \prod_{n=0}^{\infty} (1 - aq^n),$$
 $|q| < 1.$

We now give Ramanujans denition of his general theta-function. For |ab| < 1, define

$$f(a,b) := \sum_{n=-\infty}^{\infty} a^{n(n+1)/2} b^{n(n-1)/2}.$$

We introduce theta-functions that play major roles. In [4, Entry 22, P. 36], they are defined by, for $q=e^{2iz}$,

$$\begin{split} \varphi(q) &:= f(q,q) = \sum_{n=-\infty}^{\infty} q^{n^2} = (-q;q^2)^2_{\infty} (q^2;q^2)_{\infty} = \frac{(-q;-q)_{\infty}}{(q;-q)_{\infty}}, \\ \psi(q) &:= f(q,q^3) = \sum_{n=0}^{\infty} q^{\frac{n(n+1)}{2}} = \frac{(q^2;q^2)_{\infty}}{(q;q^2)_{\infty}}, \\ f(-q) &:= f(-q,-q^2) = \sum_{n=-\infty}^{\infty} (-1)^n q^{n(3n-1)/2} = (q;q)_{\infty}. \end{split}$$

After Ramanujan, we define

$$\chi(q) := (-q; q^2)_{\infty},$$

Ramanujan's modular equations involve quotients of the function f(-q) at certain arguments. For example [5, P. 206], let

$$P:=rac{f(-q)}{q^{1/6}f(-q^5)}$$
 and $Q:=rac{f(-q^2)}{q^{1/3}f(-q^{10})},$

then

$$PQ + \frac{5}{PQ} = \left(\frac{Q}{P}\right)^3 + \left(\frac{P}{Q}\right)^3. \tag{1.1}$$

E-mail address: brsrivatsakumar@gmail.com

 $^{^*} Corresponding \ author.$

These modular equations are also called Schläfli type. Since the publication of [5] several authors, including N.D. Baruah [1], [2], M. S. M. Naika [8], [9] and K. R. Vasuki [10], [11], have found additional modular equations of the type (1.1). After that several new P-Q eta function identities have been discovered and employed them in finding the explicit evaluation of continued fractions, class invariants and ratio of theta functions by many mathematicians.

There are many definitions of a modular equation in the literature. We now give the definition of a modular equation as given by Ramanujan. A modular equation of degree n is an equation relating α and β that is induced by

$$n\frac{{}_{2}F_{1}\left(\frac{1}{2},\frac{1}{2};1;1-\alpha\right)}{{}_{2}F_{1}\left(\frac{1}{2},\frac{1}{2};1;\alpha\right)}=\frac{{}_{2}F_{1}\left(\frac{1}{2},\frac{1}{2};1;1-\beta\right)}{{}_{2}F_{1}\left(\frac{1}{2},\frac{1}{2};1;\beta\right)},$$

where

$$_{2}F_{1}(a,b;c;z):=\sum_{n=0}^{\infty}\frac{(a)_{n}(b)_{n}}{(c)_{n}n!}z^{n}$$
 $|z|<1,$

denotes an ordinary hypergeometric function with

$$(a)_k = \frac{\Gamma(a+k)}{\Gamma(a)}.$$

Then, we say that β is of n^{th} degree over α and call the ratio

$$m:=\frac{z_1}{z_n},$$

the multiplier, where $z_1 = {}_2F_1\left(\frac{1}{2},\frac{1}{2};1;\alpha\right)$ and $z_n = {}_2F_1\left(\frac{1}{2},\frac{1}{2};1;\beta\right)$.

In Section 2 of this paper, we recall some theta function identities and in Section 3, we prove few modular equations using the same. Recently N. D. Baruah and N. Saikia [3] have obtained few modular equations for the explicit evaluations of Ramanujan's theta functions with two parameters. We are obtaining these modular equations using theta functions. The purpose of this paper is to provide direct proofs of some of *P-Q* eta function identities. Our proofs use nothing more than theta function identities. However our proofs are much more elementary and can be extended to prove other modular equations.

2 Preliminary Results

For convenience, we denote $f(-q^n)$ by f_n for a positive integer n. It is easy to see that

$$\varphi(-q) = \frac{f_1^2}{f_2}, \quad \psi(q) = \frac{f_2^2}{f_1}, \quad \varphi(q) = \frac{f_2^5}{f_1^2 f_4^2}, \quad \psi(-q) = \frac{f_1 f_4}{f_2},
\chi(q) = \frac{f_2^2}{f_1 f_4}, \quad \chi(-q) = \frac{f_1}{f_2} \quad \text{and} \quad f(q) = \frac{f_2^3}{f_1 f_4}.$$
(2.1)

We have

$$\varphi(q)\psi(q^2) = \psi^2(q), \tag{2.2}$$

$$\varphi^{2}(q) + \varphi^{2}(-q) = 2\varphi^{2}(q^{2}), \tag{2.3}$$

$$\varphi^{2}(q) - \varphi^{2}(-q) = 8q\psi^{2}(q^{4}), \tag{2.4}$$

$$\varphi^{2}(q) - \varphi^{2}(q^{5}) = 4q\chi(q)\chi(q^{5})\psi^{2}(-q^{5}), \tag{2.5}$$

$$\varphi^{2}(q) - 5\varphi^{2}(q^{5}) = -4\frac{f_{2}^{2}\chi(q^{5})}{\chi(q)}, \tag{2.6}$$

$$\psi^{2}(-q) + q\psi^{2}(-q^{5}) = \frac{\varphi^{2}(q^{5})}{\chi(q)\chi(q^{5})}, \tag{2.7}$$

$$\psi^{2}(-q) + 5q\psi^{2}(-q^{5}) = f_{1}^{2} \frac{\chi(q)}{\chi(q^{5})}.$$
(2.8)

The identities (2.2) - (2.4) are due to Ramanujan and for a proof see [4]. Again the identities (2.5) - (2.8) are due to Ramanujan [4], S. -Y. Kang [7], has given the proof of (2.5) - (2.8) by employing theta function identities. Recently S. Bhargava, K. R. Vasuki and Rajanna [6] deduced (2.5) - (2.8) from Ramanujan's $_1\psi_1$ summation formula.

3 Main Results

Theorem 3.1. If

 $P:=rac{\psi(q)}{q^{1/8}\psi(q^2)}$ and $Q:=rac{\psi(q^2)}{q^{1/4}\psi(q^4)}$

then

$$P^2 - \left(\frac{2}{PQ}\right)^2 - \left(\frac{Q}{P}\right)^2 = 0.$$

Proof. Consider

$$\begin{split} Q^2 + \frac{4}{Q^2} &= \frac{\psi^4(q^2) + 4q\psi^4(q^4)}{q^{1/2}\psi^2(q^2)\psi^2(q^4)} \\ &= \frac{1}{q^{1/2}\psi^2(q^2)} \left\{ \frac{\psi^4(q^2)}{\psi^2(q^4)} + 4q\psi^2(q^2) \right\} \\ &= \frac{1}{q^{1/2}\psi^2(q^2)} \left\{ \varphi^2(q^2) + 4q\psi^2(q^2) \right\} \\ &= \frac{\varphi^2(q)}{q^{1/2}\psi^2(q^2)} = P^4. \end{split}$$

where we used (2.2) after changing q to q^2 , (2.3), (2.4) consecutively. Further on employing (2.2) again we have the result.

Theorem 3.2. If

$$P:=rac{\psi(-q)}{q^{1/2}\psi(-q^5)}$$
 and $Q:=rac{\varphi(q)}{\varphi(q^5)}$

then

$$PQ - \frac{5}{PO} = \frac{P}{O} - \frac{Q}{P}.$$

Proof. From the definition of *P* and *Q*, it is easy to see that

$$PQ = \frac{\psi(-q)\varphi(q)}{q^{1/2}\psi(-q^5)\varphi(q^5)}$$
 and $\frac{P}{Q} = \frac{\psi(-q)\varphi(q^5)}{q^{1/2}\varphi(q)\psi(-q^5)}$.

Thus in order to prove the result, it suffices to prove the following identity:

$$\psi^2(-q) \left\{ \varphi^2(q) - \varphi^2(q^5) \right\} = q \psi^2(q^5) \left\{ 5 \varphi^2(q^5) - \varphi^2(q) \right\}.$$

Using (2.5) and (2.6), we have

$$\frac{\psi^2(-q)}{q\psi^2(-q^5)} - \frac{f_2^2}{q\chi^2(q)\psi^2(-q^5)} = 0.$$

Further, on using (2.1) we have the result.

Theorem 3.3. If

$$P:=rac{\psi(-q)}{q^{1/2}\psi(-q^5)}$$
 and $Q:=rac{\varphi(-q^2)}{\varphi(q^5)}$

then

$$PQ + \frac{Q}{P} = \frac{5}{PO} + \frac{P}{O}.$$

Proof. Consider

$$\frac{P^2 + 5}{P^2 + 1} = \frac{\psi^2(-q) + 5q\psi^2(-q^5)}{\psi^2(-q) + q\psi^2(-q^5)}$$
$$= f_1^2 \frac{\chi^2(q)}{\varphi^2(q^5)}$$
$$= \frac{\varphi^2(-q^2)}{\varphi^2(q^5)} = Q^2.$$

where we employed (2.7), (2.8) and then (2.1). Hence the result.

Theorem 3.4. If

$$P:=rac{arphi(q)}{arphi(q^5)}$$
 and $Q:=rac{arphi(-q)}{arphi(-q^5)}$

then

$$PQ + \frac{5}{PQ} - 4 = \frac{Q}{P} + \frac{P}{Q}.$$

Proof. Consider

$$\begin{split} \frac{5P - P^3}{Q^3 - 5Q} &= \frac{\varphi(q)\varphi^3(-q^3)\left\{5\varphi^2(q^5) - \varphi^2(q)\right\}}{\varphi(-q)\varphi^3(q^5)\left\{\varphi^2(-q) - 5\varphi^2(-q^5)\right\}} \\ &= -\frac{\varphi(q)\varphi^2(-q^3)\chi(-q)\chi(q^5)}{\varphi(-q)\varphi^3(q^5)\chi(q)\chi(-q^5)} \\ &= \frac{P^2 - 1}{Q^2 - 1}. \end{split}$$

Where we used (2.6) twice and (2.1). Now on factorizing and on dividing throughout by PQ we have the result.

References

- [1] N. D. Baruah, Modular equations for Ramanujans cubic continued fraction. *J. Math. Anal. Appl.*, 268(1), (2002), 244-255.
- [2] N. D. Baruah, On some of Ramanujans Schläfli-type "mixed" modular equations. *J. Number Theory*, 100(2), (2003), 270-294.
- [3] N. D. Baruah and N. Saikia, Two parameters for Ramanujan's Theta-functions and their explicit values, *Rocky mountain J. of Math.* 37, (2007), 1747-1790.
- [4] B. C. Berndt, Ramanujan's Notebooks, Part III, Springer-Verlag, New York, (1991).
- [5] B. C. Berndt, Ramanujan's Notebooks, Part IV, Springer-Verlag, New York, (1994).
- [6] S. Bhargava, K. R. Vasuki and K. R. Rajanna, On Certain Identities of Ramanujan for Ratios of Eta Functions, *Ukranian Mathematical Journal*, 66(8), (2015), 1131-1151.
- [7] S.-Y. Kang, Some Theorems in Rogers-Ramanujan Continued Fraction and Associated Theta Functions in Ramanujans 'Lost' Notebook, *Ramanujan Journal*, 3(1), (1999), 91-111. doi:10.1023/A:1009869426750.
- [8] M. S. Mahadeva Naika, A note on cubic modular equations of degree two. *Tamsui Oxf. J. Math. Sci.*, 22(1), (2006), 1-8.
- [9] M. S. Mahadeva Naika, S. Chandan Kumar, Some new Schläfli-type modular equations in quartic theory. In: Ramanujan Math. Soc. Lect. Notes Ser., 14, 185-199. Ramanujan Math. Soc., Mysore (2010).
- [10] K. R. Vasuki, Sreeramamurthy, T.G. A note on PQ modular equations. *Tamsui Oxf. J. Math. Sci.*, 21(2), (2005), 109-120.

[11] K. R. Vasuki, On some of Ramanujans *P-Q* modular equations. *J. Indian Math. Soc.*, 73(3-4), 131-143.

Received: May 2, 2015; Accepted: September 16, 2015

UNIVERSITY PRESS

Website: http://www.malayajournal.org/